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1 0000
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char a, hoge;
int b, fuga;
double c, bar;

scanf ("%c", &hoge);
scanf ("%d", &fuga);
scanf ("%1f", &bar);

[0 3]
a = ’X’;
b = -123;
c = -3.1415e35;

1.2 OJO0o0oOoood

(o 1]
[0 ] 0.012346 [O] 1.234568e-02 [0 ] 0.01235 [0 ] 1.23e-02

[0 2]
O0000Oa=c; 00000000

00 a0 const int000000000000O00O0OOOU0O0O0—O00—000000000OUO0OOOOOOOOD (50O
ooboooobbobobUo eOoOObOOObOOOODbDO0OOOoOoOobObOOOOoObOOODbOn
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c=(double)a/b;

2 OOoood
2.1 000

[0 1]
01 12

[0 2]
(O]
if

(a1l

case

3 Uouoogon

3.1 0000
[0 1]
sum=0;
i=1;

while (i<=1000){
sum += i;
i++;

3

-1 (¢) 9
(01 1 [O1 o
[O1]
else if
[O]
braek;

(o 2]

(d) 1 (e) 2 ()
[O1 1 (O]
(O]
else
(O]
default:
sum=0;

for(i=1; i<=1000; i++){
sum += i;

3

(o

11

sum=0;
i=1;

do{

sum += i;

i++;
}while(i<=1000) ;



3.2 0ODOO0O00Oooogo

#include <stdio.h>
#include <math.h>

int main(void){
double xmin, xmax, x, dx, fx;
double max_fx, max_x; // 000o0o0ooooao
int i, ncal;

xmin = —1000.0; // z0000D0
xmax = 1000.0; // 0000
dx = 0.0001; // z00000000000000)
ncal = (xmax—xmin)/dx; // 0000

//— 0000 (z=emin OOOOOODODO)
X = xmin;
max_X = X;

max_fx = —5.0%x*x + 6.0%x + 6*sin(x);

for (i=1; i<=ncal; i++){
x = xmin + ixdx; // 000
fx = —5.0%x*x + 6.0%xx + 6xsin(x); // f(xz)O0 00O

//—— Ooopoooood —m
if (max_fx < fx){ // 00000000
max_fx = fx;
max_x = X;
}
}

printf (?x = %f00 O f(x)=%f0 000 0O \n”, max-x, max-fx);

return 0;



